SplashLearn

Identify the Operation

Circle the correct operation for each story situation.

o
-) Drake bought 5 toys from a shop. His father gifted him 2 more toys. What is the total number of toys
Drake has now?

[ Addition ] [ Subtraction ]

2
Q Tim has 7 packs of crayons. His friend took 3 packs of crayons from him. What is the total number of
crayon packs Tim has now?

[ Addition ] [ Subtraction ]

G Drake buys 8 packs of batteries. Each pack has 5 batteries. What is the total number of batteries Drake
bought?

[ Subtraction ] [Multiplication]

e
) Jake bought 2 balloons. His brother gave him 6 more balloons. What is the number of balloons Jake now
has now?

[ Addition ] [Multiplication]

()

Emily has 3 fish aquariums. Each aquarium has 4 fish. What is the total number of fishes Emily has?

[ Addition ] [Multiplication]




